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@ 1: Choose the correct answer:

i ; ¢. What is the coordination number in FCC lattice structure g 6 '
/s i 10
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\ \ ) d. hiehis’the strongest bonding between atoms
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e. Hooke’s Law is applicable in which region

1. Necking
i I astic

L
b,

Q 2: Draw a typical engineering stress-strain curve. Indicate i
curve. : A
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of a plier from the list:

Q _; ‘-_n_,lc\.cl which ptopcrtles are important for the ,_ g
_ Hardness, Physical, C‘hc ﬁ Thermal expansion, ’.m

(2 marks)

Q 4: Write down the advantages and disadvantages of “Substitution™ and “Recyeling” in.
manufacturing of products. T e e i
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3 1 atomic radius 0f 0.130 x 102 mm, a Bgf crystal structure, and an

S Qe : nl" SI 9‘) mol. Compute the theoretical density of chromium. [Avogadro’s
'\E},. 3mml L 6 ",3 < T0 K}msfmol] [ ) {4 marks)
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Q 7: A tensile test uses a test specimen that has a gage efﬁﬂ i
mm?. During the test the specimen yields under a load £ 98,000 N and the co

length = 60.4 mm, The maximum load of 168,000 N is reach&datagagﬁlmfgﬁ— . mn
Determiné ? T"\-K —

Vi (a) yield strength, ,
e (b) modulus of elasticity s
. (c) tensile strength. ' E :
(d) If fracture occurs at a gage length of 68.1 mm,, de
(e) If the specimen necked to an area = 95‘5_11312
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s Caleulate the atomic packing factor (APF) for body centered cubic (BCC) lattice
_L' eture. Please show all the necessary steps for derivation. (6-rcirks:
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